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JTE: Cd

BHik: A=
[IX=ES#]
é&(nm): 0.2
KTHifE(mA): 2.00

FRIPS:

=S

{FRPSEHD (MPa): 0.00

B (nm): 228.80

ASE(V): 303.39

HiiHEE (T):1.00

{FPSRE(L/min): 0.00

#FE(uL): 10
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HARS: EFEA IEREERAL: RS
Xf£AHA:2017-06-16 FHEAHA:2017-06-16 FERR{=%7:100.0000 ERIEAT:1.00
ENR£E:1.0000 () ESMFH:1.00 {FHE: BAEEIE:
£558*:126.3271 (pg/L)  #@AYE):2017-06-16 10:14:01
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HARS: EHEEA AR ERS:
ErEHEA:2017-06-16 SKAEHHEA:2017-06-16 FeFR(5%4:25.0000 HEHERF:1.00
EX#£E:1.0000 () EBMFA:1.00 EiE: BXZRERIE:
#£83%:23.0285 (ug/L) ¥R E): 2017-06-16 10:21:45
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HARS: ESEIN XN EHRS:
=FEHHR:2017-06-16 KHFEEHEA:2017-06-16 MeRR{%#7:10.0000 EEHREF:1.00
EVREE:1.0000 () EARMRFA:1.00 {F4E: EXZERIE:
#£8%:9,9939 (ug/L) &Mt E): 2017-06-16 09:37:49



EVWAI

b it s O ]
[iRERZ]
2= B mE(°C) FHRATEI(S) {RIFATEN(S) NSEE ISR et KE
1 Fig 50 1.0 2.0 F *® = AN
2 Tig 90 10.0 15.0 7 % NES FF
3 A 120 15.0 10.0 F % Ih=R AN
4 wA 300 10.0 5.0 FF % Ih=R AN
5 Ak, 300 0.0 1.0 % 3% Ih= FF
6 BEF4Y, 1700 0.7 2.0 % % Ih=R FF
7 Sk 1900 1.0 1.0 FF % Ih= ¥+
8 XA 0 0.0 30.0 = % T FF
[$HFER]
0.s 1.0 1.5 20 KE (ug/L)
2R ZEEL: 0.99930
BZEHFE: Y=0.06518*X+0.00546
B REL Abs.[I&F MREE(pg/L) SD RSD(%) gER*
L 1 0.0035 0.00
2 0.0042
3 0.0038
0.0038 0.0003 8.7788
=) 1 0.0370 0.50
2 0.0394
3 0.0381
0.0382 0.0012 3.2029
=] 1 0.0731 1.00
2 0.0746
3 0.0719
0.0732 0.0014 1.8746



EVWAI

Ko ih
k4 1 0.1043 1.50
2 0.1044
3 0.1043
0.1043 0.0001 0.0525
W HES 1 0.1325 2.00
2 0.1340
3 0.1347
0.1337 0.0011 0.8487
BER1 1 0.0875 1.2633
2 0.0862
3 0.0897
0.0878 0.0018 2.0454 126.3271 (ug/L)
ey 1 0.0640 0.9211
2 0.0665
3 0.0661
0.0655 0.0013 2.0241 23.0285 (ug/L)
KEE3 1 0.0707 0.9994
2 0.0712
3 0.0698
0.0706 0.0007 1.0495 9.9939 (ug/L)
EOIRER
BAfS: pg/L
HRa 58
1 126.33
2 23.03
3 9.99




